C:# Dividing Whole Numbers with Zero
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Dividing Whole Numbers with Zero Name: Answer Key
Solve each problem. Answers
1) 040 2) 405 3) 090
1 40r1
41161 2|1811 8|721
0 8 0
16 01 72 2. 405r1
16 0 72
01 11 01 3 0rl
0 10 0
1 1 1 . 50r5
5. 70r2
4) 050 5) 070 6) 060
6. 60r3
9|455 6|422 6363
0 0 0
45 42 36 7 102r1
45 42 36
05 02 03 8. 320r2
0 0 0
5 2 3 9 60r5
10. 60r2
7 8 9
) 102 ) 320 ) 060 4 107r3
414009 3962 8|485
4 9 0
00 06 48 2. 90r2
1Y 6 48
09 02 05
8 1Y 0
1 2 5
100 o060 11) 107 120 050
6|362 5|538 71352
1Y S 1Y
36 03 35
36 0 35
02 38 02
0 35 0
2 3 2
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